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General instructions. Please read the following instrucﬁorrlgrcarefully.

o Check that you have a bubble-sheet accompanying this examination booklet. Do
not break the seal on this booklet until instructed to do so by the invigilator.

e Immediately on receipt of this booklet, fill in your Name and Roll Number on the
small slip attached to this booklet. Do not write this information anywhere else on this
booklet. - |

¢ Following the instructions on the bubble-sheet, fill in the required information
in Boxes 1, 2, 4, 5 and 6 on the bubble-sheet. The invigilator will sign in Box 3.

. Thishexa,mination has two parts, 1 and 2. Part 1 is to be answered on the bubble-
sheet, while Part 2 is to be answered in the blank space provided on this booklet itself.

e When you finish, hand in this booklet and the bubble-sheet to the invigilator.

* Do not disturb your neighbours at any time. Anyone engaging in illegal ex-
amination practices will be immediately evicted and that person’s candidature

will be cancelled.

. Do not write below this line.

This space is for official use only.
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Part 1

Instructions.

o Check that this booklet has pages 1 through 26. Also check that the bottom of each
page is marked with EFE 2005 A 01.

e This part of the examination consists of 30 multiple-choice questions. Each question
is followed by four possible answers, one of which is correct. Indicate the correct answer
on the bubble-sheet, not on this booklet.

e Bach correct choice will earn you 2 marks. However, you will lose 1 mark
for each incorrect choice. If you shade none of the bubbles or more than one
bubble, you will get 0 for that question.

e Use pages 21 through 26 of this booklet, marked Rough work to do vour caleula-
tions, drawings, etc. Your “Rough work” will not be read or checked.

o This part of the examination will be checked by a machine. Therefore, it is very
important that you follow the instructions on the bubble-sheet.

-

You may begin now. Good luck!

Answer 1, 2, 3 and 4 using the following information. Consider a competitive
exchange economy with two agents (1 and 2) and two goods (X and Y). Agent 1’s endow-
ment of (X,Y) is (100, 100) and Agent 2’s endowment of (X,Y) is (50,0). An allbcation
for Agent i is denoted {x;, ¥:), where x; is his allocation of X and y; 1s his allocation of
Y. Agent 1’s objective is to choose (%1,71) to maximize his utility min{z, y1}. Agent 2's

objective is to choose (z2, y2) to maximize his utility x4 + .

1. An example of a competitive equilibrium allocation for this econoniy is
(a) (@1, 11) = (100, 50) and (z2,y2) = (50,50)
(b) (z1,31) = (125,100) and (z2,,) = (25,0)
(c) (z1,21) = (50,50) and (z2,2) = (100, 50)
(d) (z1,91) = (100,100) and (w2, y2) = (50,0)
2. An example of a Pareto efficient allocation for this economnly is
(a) (z1,31) = (50,50) and (3, 72) = (100, 50) ‘
(b) (z1,91) = (125,100) and (z2,3:) = (25,0)
(c) (z1,91) = (125, 75) and (z2,32) = (25,25) )
(d) (z1,11) = (50,100) and (z3,2) = (100,0)
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